MFCA

MFCA
261 8,221
MFCA
MFCA
MFCA
60% 1000
MFCA
MFCA
8000 SKU
MFCA
5-1

JLr 1L 1L
—> T T

LC ¢ DC ¢
B B

5-1

LC LC Logistic Center
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DC DC Distribution Center

DC
DC
LC
DC
LC
MFCA
MFCA
DC
LC DC LC
COo2
MFCA MFCA
5-2

> LC 21 DC >

< DC LC

5-2 MFCA
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MFCA

MFCA

CO2

MFCA

MFCA

MFCA
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MFCA

MFCA

DC LC
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SC EC
MFCA
1)
LC
LC
LC

LC

2)

3)

SC EC

300 2004 1
2

DC

DC
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MFCA

DC

DC



SC

MFCA
MFCA

MFCA

MFCA

CO2
MFCA
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MFCA

CcOo2 MFCA
1 10
ton-km CcOo2
MFCA
MFCA Input/Output
MFCA
300 2004 1
SC
1)
Input Output 5-3
2
1 10
(LC) (DC)
> LC 115,881 > DC 407,264
LC 685 |- - > DC 13829~ >
E LC : DC
-{---i-> 60,477 -ot--a-> 53,910
A LC 685 o DC 13829
517,746 LC 517,746 > LC DC 422717
£ DC LC 14151
' Input 593,059 Input 490,456
i LC 115,881 (|—> DC 407,264 —>
! LC DC 422717 DC LC  14151(--3>
: Output 538,599 Output 421415 |
54461 (- --> 69,041-->
i LCoLC  24048)--> i DC-DC  43335]-->
>
—
5-3 MFCA
2) LC DC
5-3 5-1 5-2 LC DC Input/Output
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5-1 5-2 3)
SC
5-1 LC Input/Output
LC SC
60,477
LC 685 23 100% 23
LC| 517,747
DC LC 14,151
Input 593,060
LC 115,881 10,580 0.6% 63
LC DC 422,717 38,594 0
Output 538,599
54461 4820 100% 4820
LC=LC 24,048 813 100% 813
SC 54,830 5718
0.6%
5-2 DC Input/Output
DC SC
53,910
DC 13829 7,286 100% 7,286
LC DC 422717
Input 490,456
DC 407,264| 158,344 3.4% 5,377
DC LC 14151 1292 100% 1,292
Output 421415
69,041 31,773 100% 31,773
DC=DC 43,335 19,228 100% 19,228
SC 217,923 64,955
3.4%
5-1 5-2 LC 0.6%
3.4% LC DC 2.8%
5-1 LC 0.6%
0.6% 0.6%
5-2 DC ) 3.4%
5-3 5-1 5-2 LC DC
5-3
SC 272,752
63,942
6,731
70,673
25.91%
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MFCA

517,747

5-1 5-2
5-4 SC
SC
SC
5-3 MFCA 5-1 5-2 SC
(LC) (bC)
LC 115,881 > DC 407,264
LC 685[[-----= > DC  13,829(------ >
X :
1 1
1 1
_______________________________ 231 R, & - 2]
' SC ! SC
1 1
' LC : DC
-- "Jt"> 60,477 SR B 53,910
-> LC 685 o> DC 13,829
LC 517,747 > LC DC 422717
e L > DC LC 14,151
. Input 593,060 Input 490,456 SC
i SC 158,344
i 10,580
' LC 115,881 [——> DC 407,264 ——>
' LC DC 422717 DC LC 14,151 (- --=---= )
! Output 538,599 38,594 e Output 421,415 1292 !
e MM __|l.____SC!
54,461 (- -> 69,041[(-->
4,820 e 31,773
Ne
i LC=LC 24,048 -~ > f° DC~DC 43,335~ ->
! mmccccceccecceccccccccccaaa= 1 e o - |
813 19,228
sC e
| -——=>
—
5-4 SC
5-4 MFCA
1
MFCA
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5-4

5-4
5-4
4,000,000 260,478 4,260,478
93620 0.00% 6.10% 99.71%
12,274 12,274
0.29% 0.00% 0.00% 0.29%
0 0
0.00% 0.00%
4012274 0260478 04,272,752
93.90% 6.10% 100.00%
5-4 0.29% MFCA
55
5-5
192,986 67,493 260,479
74.09% 25.91%| " 100.0%
0 0
0.00% 0.00%|"0.00%
0.0%
192,986 67,493 260,479
74.1% 25.9%| " 100.0%
55
25.91%
55
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Cco2

LC DC
MFCA
5-6 5-7 CO2
5-6
LC DC
60,477 53,910
LC 685 2 DC 13,829 34
LC| 517,747 LC DC 422 717
DC LC 14,151
Input 593,060 Input 490,456
LC 115,881 292 DC 407,264 1,027
LC DC 422 717 0 DC LC 14,151 0
Output 538,599 Output 421,415
54,461 0 69,041 0
LC=LC 24,048 0 DC=DC 43,335 0
SC 294 SC 1,061
0.6% 3.4%
LC DC
LC| 0.00245 DC 0.00245
LC LC DC
DC LC
LC 0.00252 DC 0.00252
LC DC 0.00000 DC LC 0.00000
0.00000 0.00000
LC=LC 0.00000 DC =DC 0.00000
5-7 CcOo2
LC CO2 DC CO2
60,477 53,910
LC 685 0.19 DCl 13,829 0.49
LC| 517,747 LC DC 422 717
DC LC 14,151 0
Input 593,060 Input 490,456
LC 115,881 32.67 DC 407,264 14.32
LC DC 422,717 119.19 DC LC 14151 3.99
Output 538,599 Output 421415
54,461 0.00 69,041 0.00
LC=LC 24,048 0.41 DC=DC 43,335 0.18
0 152.46 0 18.98
CO2 LC CO2 CO2 DC CO2
LC| 2.82E-04 DC 3.5E-05
LC LC DC
DC LC
LC 2.82E-04 DC 3.5E-05
LC DC | 2.82E-04 DC LC 2.8E-04
0.00E+00 0.0E+00
LC=LC | 1.69E-05 DC~=DC 4.2E-06
CcO2 CcO2
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LC LC DC DC
LC DC
DC
5-3 MFCA 5-6 5-7 CcO2
5-5
LC DC
co2 | (1
co2 (1) (LC) (0C) 143
32.7% LC 115,881 DC 407,264
LC 685 |-~ > DC  13829|-~>
' {
1 1
_________ ke______CO2__ (1) ___! oo k) ___CO2__ () ___!
: 2 0.2 i 34 0.5
i :
1 1
' LC ! DC
————— 1= 60,477 ——emaD> 53,910
o> LC 685 Yo DC 13,829
517,747 —>——>—>] LC 517,747 > LC DC 422,717
PREEE DC LC 14,151
! Input 593,060 Input 490,456
I (kg) (kg)
. 292 1,027
! LC 115,881 DC 407,264
E LC DC  422717|—>' 1192 DC LC 14,151 (|- ->
I Output 538,599 co2 (1) Output 421,415 H
40 W e ] !
co2 (1)
54,461 (--> 69,041~ ->
i LC=LC 24,048 -~ > £ DC=DC 43,385~ ->
e e 2 1 e e e e e . ________ 1
04C02 (1) 02c02 (1)
-—=> LC-CO2 LC DC-CO2 DC
—>
1525 294 19.0 1,061
ton-C02) (kg) ton-C02) (kg)
5-5 CO2
5-4
4,000,000
260,478 12,274 272,752
5-5 25.91%
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MFCA

5-8

5-8

57,193 b *FFFXTT9

QD

LC| -14514 a *xx*502

C 465,952 * *%% 156

* ***’433

57,193 *Fr* 482

LC 465,952

O |T|T

LC| -14514 **** 074

*:***’808

* ***’216

5-9 5-8 MFCA

5-9 MFCA

523,145

508,632

*‘***,433

*x**216|B/S

123,502

* ***’881

* ***]747

* ***,133

* ***,886

*:***,752

* ***’465

300

108



50%
5-10 5-11 “
MFCA
5-10 LC Input/Output
LC SC
21,193
LC 0 0 100% 0
LC| 508,631
DC LC 0
Input 529,824
LC 115,196 10,517 0.0% 0
LC DC 393,434 35,921 0
Output 508,631
21,193 1,876 100% 1,876
LC=LC 0 0 100% 0
SC 48,314 1,876
0%
5-11 DC Input/Output
DC SC
16,393
DC 0 0 100% 0
LC DC 393,434
Input 409,828
DC 393434| 152967 0.0% 0
DC LC 0 0 100% 0
Output 393,434
16,393 7,544 100% 7,544
DC=DC 0 0 100% 0
SC 160,511 7,544
0%
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5-10 5-11 5-4 SC 5-6
(LC) (Do)
— LC 115,196 DC 393,434
LC off--> DC off-->
fmm e 0(__SC____. e 0(__SC____.
i Lc : DC
——dmmam-> 21,193 ol ik inicd 16,393
o) LC 0 o> DC 0
508,631 LC 508631 > LC DC 393434
> DC LC 0
. Input 529,824 SC Input 409,828
! 10517 152967 (  SC
LC 115,196 [|———> DC 393,434 ———>
! LC DC 393434 35,921 bC Lc  of-----
! Output 508,631 SC Output 393,434
| S (I IIIIIny! | NI A 0( sC
21,193[- - - > 16,393[F ---->
1,876 sC 16393 ( SC
i LC=LC ojf--> il DC-DC 0fj-->
REEEEEEEEE R 0 sc ' CTTTTTTTTTTTTOY (s T '
-—=>
—
5-6 SC
5-8 5-9
5-12
5-13
5-12
18,793 b * *xk 532
LCDC 489,838 a * **x 428
LC 0 a 0
*,***,960
18,793 b * *** 078
LCDC 489,838 b * Fxk 233
LC 0 b 0
*’***’211
5-13 MFCA
508,631 523,145 -14 515 -2.8%
508,631 508,632 -1 0.0%
* *** 060 * **x 133 84 527 2.3%
*Fxx 211 * Fxk 216 -5 0.0%
37,586 123,502 -85916 -69.6%
* *** 956 * *** 881 -479,925 -69.6%
* *kxk 631 x Rxk TAT -9116 -1.8%
*Rxk D11 * **%k 133 -50,922 -1.8%
* *xxk 826 * xxx 75D -63,927 -23.4%
* *** 035 * *x* 886 -114,850 -3.6%
* *** 925 * *** 465 148,459 30.1%

110




5-13 €

?z 2.8%
2.3%
1.8%
23.4% 3.6%
30.1%
MFCA
MFCA 25.9%
MFCA
MFCA
MFCA
m MFCA
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CcOo2 5-5
CO2

m MFCA

MFCA

MFCA
MFCA

SCM
MFCA SCM
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